956-302

Oval Double Pedestal Direct Bury Expanded Table

6

P

.X.g
O.X.%.X.OM.X.NOMOMOMOMO%O
%.,w@ T
. \ \
O%%%%%. %ﬂw“Ow.x.wo.x.Ow.x.WO%OMO%OW&O%%%& s
.oooooooooo\ OO.X.Oo&.Oo%.Oo&.oooooooooooooo%.o% ,oooooooooo.

OO0
A 2 <O O<.X.<O<O<O<O<O<O<OM. i |
i W
WA %OOOOOO
R A Do...ggog.x. i
o.o.i %o 0 - %%%%%@.
Qi (i e
.x. oz.oo .OO.A.V.@.

QTY.

12
24
12

o
U.mu.ll
D DO %= |+
USB%U
— > O | ¢
<0 3 @)
|_||_nS..m|uW/
ElZ2I<|8 ||z
Ol <= | |w
SVS — o |92
EOEm_SMb
o B0 |x|%|®
Dlhu < >
O|L| o™
ONOOO
<
T

o

w

foa)

N O M| | M|
S| =0~ |v|dN
S|wq|W|o9|9
ZlN|N|XN|O|~0]|0
— | || N | =] =]
||V 0o |n|nv| v
<
o
O
< N|M [ T |[W0O |0
>
L
=

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2




6' Oval Double Pedestal Direct Bury Expanded Table 954-302

In accordance with California law: WARNING- This product contains a
chemical known to the State of California to cause cancer and birth
defects or other reproductive harm.
‘ 11101000 I I Y I I I O 1| [ I HL/I ]
I i i 1 —1 —] \-r

‘ FGround Level

A’

50 5/8" ———

DETAIL A
SCALE1:12

DETAIL C
SCALE1:12

Tools List

7/16" Drill bit

9/16" Socket

9/16" Wrench

Imapct Gun (Optional)
Drill

Level

Tape measure

12" hole auger

DETAIL B ©
SCALE1:12

1. Drill 2 holes in the ground per the drawing above. The holes need to be 30" deep or below
the frost line in your area. Which ever is deeper.

Place the pedestals in the holes.

3.  Dirill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill
bit.

Fasten the table top and seats to the pedestals, support and level table. Check height.
When the table is level and secured, fill the holes with concrete to about 2” below ground
level.

N

o &

PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

Iy G
¢/ MADE INTHE \

SN * Ak * Ay
%:***:‘.«“

(Al [Rev. X.01 [SHEET 2 OF 2



cari
Typewritten Text

cari
Typewritten Text

cari
Typewritten Text

cari
Typewritten Text

cari
Typewritten Text
In accordance with California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.

cari
Typewritten Text

cari
Typewritten Text


@ Champion 3'x6' Oval, Mulfi Pedestal Surface Mount, Expanded 954-305

;Eli ME
— 10"
= =322
== ;
SR T "
= = 81;16
- 72" -— - 71" -—
p—d—"
O | [ T 7 ]
‘ | | \J_I_L/
1 [ 1
30" ﬁ
‘ 19&/2" ! .
-~ 507/8" ———= —— 261/16" =
—— 26 1/16" (=

1. Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
2. Fasten the table top and seats to the pedestals. The pedestals fasten to the inside of the mounting bar
on the table top and seats. See diagram on the next page.

3. Position the table and seats and anchor them to the floor.

In accordance to California law:  WARNING- This product contains a chemical known to the
State of California to cause cancer and birth defects or other reproductive harm.

PREMIER POLYSTEEL i

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

[REV. X.01 [SHEET 1 OF 2

>



Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


956-305

'x6' Oval, Multi Pedestal Surface Mount, Expanded

? Champion 3

Y.

_mlu]224W_%W_
X |
==
mwmow
— —
D%&WB%M
NOdeeav.AvSN
O_IV.m.THOk
=lo|0O|2|0 <9
o | = o |g | O
=10 | c n | ==
v | O (@) - | O
CTbnmuQHN
Sl=1LIE|IE|[>|n|un
w|S|lege|lS|c|T|HA|N
DVOWU.IHMO
Oh OHXB/
O|Z2 3|2 |®
©|Li5 |
210
TS
v
L
2121535888
2| YT 212122
ZIN|XN|O | |~0]|0|~0
N[O || =] ==
|00V [V v vl v
<
o
O
< N ||t |wv|o|l~
S|-
Ll
=

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2




956-307

? 6' Oval Double Pedestal Surface Mount Expanded Table

- (
Oowowowowo.. % %O D
O@N@W@W@W@@ %%000 0%%00 000%0
i @i
o
R
e
Qw%%%%wo AERERERERERERRER
R
O%O%O%O%O%O OOOOOOOOOOOOOOOOO%%%%%%%%%%%%\
el OO%O%O%%%%%%%%% i
>' >>> @ 0 /
i o%%%%%@%w%@ gi
B
:,...

QTY.

2

12
24
12

DESCRIPTION

OVAL TABLE
TWO PEDESTAL SURFACE MOUNT STAND

6' Champion Oval Seat

3/8"x1-1/2" SS Hex Bolt

3/8" SS Flat Washer

3/8" Zinc Nylock Nut

PART NUMBER

642-E13

632-300
622-E13

516-058
516-023
517-028

ITEM NO.

T
9
[
]
o
[
a
]
T
>
<
]
9
3
L]
c
<
=)
L
<
0
0
o
ILl
J
o
E
0
[
]
£
£
0
0
it
1]
]
m
]
£
=

[REV. X.01 [SHEET 1 OF 2




@ 6' Oval Double Pedestal Surface Mount Expanded Table 954-307

MMTT T T T T T T T T T T T T T T T T T TN

O O

o QI IO (]
30" |
20”

Tools List

LU N ' . 7/16" Dirill bit
. 9/16" Socket
. 9/16" Wrench
. Imapct Gun (Optional)
. Drill

1. Dirill plastic out of the mounting holes on the stands, seats and table top using a 7/16"

diameter drill bit.
2 Attach the seats and table top to the support brackets with fixings provided and tighten up.
3.  Stand the table in its final location and mark out base holes.
4 Move the table to a safe place and drill holes.
5 Place the table back, level and secure down using appropriate fixings for the ground

material.
In accordance to California law: WARNING- This product contains a chemical known to the
State of California to cause cancer and birth defects or other reproductive harm.

°’§ 3 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

=
i~
m

>

[REV. X.01 [SHEET 2 OF 2



Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


[}

30 5/8"

956-3P1

|

A

[REV. X.01 [SHEET 1 OF 2




@ 956-3P1

3
SCALE1:8
1. Drill out holes using a 7/16" drill bit.
2. Attach both stands to the inside of table support bar. (See detail above)
3. Attach the seats to the stands.
4.  Attach the straight end of each brace to the table. (See detail above)
5. Attach bent end of both braces to the cross bar of each stand. (See detail above)
In accordance to California law: WARNING- This product contains a chemical known to the State of California
to cause cancer and birth defects or other reproductive harm.
ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 642-EP3 Oval Table Top 1
2 622-EP3 6' Champion Oval Seat 2
3 634-010 FS Table Stand (10" Seats) 2
4 634-013A Table Brace W/Umbrella 2
5 516-058 3/8"x1-1/2" SS Hex Bolt 16
6 516-023 3/8" SS Flat Washer 32
7 516-028 3/8" SS Nylock Nut 16

2@9 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 2 OF 2

=
i~
m

>



Cari
Typewritten Text

Cari
Typewritten Text

Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


956-3P5

@ Champion 3'xé' Oval, Multi Pedestal Surface Mount, Perforated

8 1/16"

- 72|| - - 7 -l n -—
——
I I |\J T / |
‘ | | _I_
] L1
30”
19 1/2" | |
| | |
~—507/8"' —— — 261/16" [=—
— 261/16" =
1. Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit.
Fasten the table top and seats to the pedestals. The pedestals fasten to the inside of the mounting bar
of California to

2.
on the table top and seats. See diagram on the next page.
known to the State

Position the table and seats and anchor them to the floor.
law: WARNING- This product contains a chemical
harm.

3.

In accordance to California
or other reproductive

293 PREMIER POLYSTEEL

The Best Commercial Outdoor Furniture Available. Period.

[REV. X.01 [SHEET 1 OF 2

=
i~
m

>



Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.


956-3P5

Mounting bar

'x6' Oval, Multi Pedestal Surface Mount, Perforated

@ Champion 3

00000000,
0000000 000
000000 0000
00000 00000
0000 000000
0000000
00000000
000000000

09\ \0000O 0000000000
909, Y} 00000 0000000000
00y 000000 00000000000
b0, 00\ \00000 00000000009
09 0000 000000000
P0g o000/ /o\ \0opa

¥ /A0 00, 0

.;’.. 0 0 0\

Y.

_mlu]224W_%W_
|
==
mwmow
—_— —
D%&WB%M
NOOeecv.AVSN
O_IV.m.THGk
=| o0 |O|=2|0 |9
DuhluﬂDuP$.Tb
HO (o) nOV/
CT.Dnmun/_HN
Sl=1LIE|IE|[>|n|un
_mnvumwm.l_sm\v
ommo"x@/om
CeM%Soo
- +
Oe
_IS
%
L
o
S0 51318/2(8
[ e W PO I s B N RN
2 |H YT IZ1212(2
Z1919(8(31212|2
o0 |V |[V|b|b|nv
<
o
@)
Z N || |wvw|o|~
S|-
L
=

g
2
[
[}
o
g
a
o
T
>
q
o
L
3
b=
c
[
3
B
3
[}
0
T
it}
3
8]
[
0
c
Q
£
£
0
o
»
[0}
[}
o
Q
£
=

[REV. X.01 [SHEET 2 OF 2




	956-302
	Sheet1
	Drawing View1

	Sheet2
	Drawing View13
	Drawing View14
	Drawing View15
	Detail View A (1 : 12)
	Detail View B (1 : 12)
	Detail View C (1 : 12)


	956-305
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4


	956-307
	Sheet1
	Drawing View1

	Sheet2
	Drawing View13
	Drawing View14


	956-3P1
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 8)


	956-3P5
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4





